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1. Given the follow equation, find the f{m,w). (10 points)

1 i
[ j_”ﬂf(x,y)dydm—zﬁ [ e¥ax

2. Calculate the maximum values of the following expressmns (20 points)
x°+6xy+3
(a). —W_y_
x* —xy+y*
x*+8/13xy
x*+y?

(5)

3. Given that Zx =(0.005-0.1y) (10 points)

0.1x

(a) Find———== (ed.’x b4 )

(b) Find the solution of % =(0.005—-0.1) with initial condition x=0,y=0.03.
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. Consider the Black Scholes formula C(§, X,r,7,0) = SN(d,) - Xe " N(d,), where

! lni+rr+lazr

N(x)=£’me_2dz, d=—2X py

o« (10 points)
do

and d, =d, — o7 . Calculate the

. - 2
. Evaluate the iterated integral f f ¥ dxdy (1043

. Use implicit differentiation to find % for xe” +ye* =x.(104})
. Find f'(x) when f(x)=x*Inx.(104})

. Evaluate (a) Ixz cos xdx

1+sec? x
W ] GINES S #105)

x+tanx
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9. An object move along the x axis in such a way that at each time ¢, its velocity is

dx
given by the differential equation 7‘ =x*Int . Ifthe object is at x =-3 when ¢ =1,

where isit when =2 ? (10 43)



